Age of Discovery — Quiz 3

1. Middle Passage refers to the

A.Northernroute from Europe to
Asia

B.Route from Europe to Asia around
the tip of South America

C.Shipment of gold and silver from
the Americas to Spain

D.Journey of enslaved persons from
Africato the Americas

2. The primary components of the
Triangular Trade Route involved all of the
following except

A.Enslaved people from Africa

B. Manufactured goods from Europe
C.Raw materials from the Americas
D.Porcelain and silk from Asia

3.Which two European countries |4 What factors helped the

led in explorationduringthe Spanish defeat the Aztec and
ion?
Age of Exploration: the Inca?

A.England and Spain . o
B.England and Germany 5.What does circumnavigation

C.ltalyand Holland mean?
D.Spainand Portugal




